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Question Type-01: Conductors, Semiconductors & Insulators

*f¥_A (Conductors):

(i) ©Ie 1Y 1078 Qm Qg9 T

(if) A=A 8 e e Wy

(i) Energy gap,E; = 0

(iv) SOI*IEr @49i% [R = Ry (1 + ab) 9T a {HIgF]
S OPETET ST (1Y TS |

Example: 53 41y, Aldw, SIFR0
ARSI (Semiconductors):

(i) S8 @K 10~40m CATF 10°0m

(ii) “f¥aZs T @ @S FTe AT o
(iii) Energy gap, Eg < 1.1eV

(iv) BRLdTEl

(v) SIPEI@ @<liF AFF R = Ro (1 + oB) STl Iretet ¢ P

Example: Si, Ge

AR /5@23/ (Insulator):

(i) Sis ¢ 10120m 9g &

(ii) ~ifZ T 8 QST TS AT QP
(iii) Energy gap, Eg = 6eV

(iv) SO @OTE {AIGF | .-, Sl IS @Y TS|

Example: SYHHIZ

Related Questions:

Sleiat et SRR Y-
(a) P (b) I =itz

OMEECEESE

Y (a); EARRIRT G0 0BT T Sl IAITT 9 Y T |
i ~vida otemiat 3fas T @ ©fee AT -

(a) 3 ~ATH (b) B #IH

(c) SRS YT

e AT @ AT GG =g e ot smidfon eipfe <17
(2) SfeAfAR (b) #fF1R

(c) WE-#fTR

ln"- A Rt - r.l:_i_? ]
- 1—"' e ‘_-". '
‘I- :"I : I:‘:‘ Sy --.-l |-. ."J\

[DU'16-17]

(d) U=

[Ans: a][JU’14-15]

(d) FHBE 7

(d) SIS

[Ans: b][CU’14-15]




, N-type, semiconductor diodes

¢ Charge carrier —Hole

¢ COTEW: [aUaidt GRE/IIIA &Ftoia GTE: Al Ga,In etc
¢ B BT =7y

ﬂ-!fEE

¢ Charge carrier —electron

¢ (OIE: ALEG GE/VA GIIE P,N,Sb,As,Bictc
¢ I 51 75

| p-n junction

(i) p-n junction/p-n diode @ p 8 n type WERAR ALA Fea T o7 AT
(ii) ST T TG 1 (e FRR AT 11 YITF BY 4GS T AAGS I |

(iii) p type 9 AR TG @ @ n type @3 I IBIRE © & ATt 7A@t 8 &1z et T

a3 fefdirs R @i e i)
(iv) Si 99 LS 99 0.7V
(v) Ge @3 2AfEs {99 0.3V
Example:
R
+ O——wWwwWwwW O
T « O
4
Z
2
Vi 40V Vn
l 3
r
- 0
foraa qeAite &AfSfb (S SIS 24, 2, S 23 Lﬂamﬁ@mm%@mw 5Volt 8 500mA (R 8 V, 47
[ 97?7
Y Vp =2, + 2 +23 =(5+5+5) =15 Volt.
V=V 40-15 25 _
Vi—Vo=IR=R== - = 500  500%x10~3 = 500

(Vo,R) = 15V,500

Example: 935 p — n TG @14 400; 0.2 1 M7= & 21023 a7 3 I7?
. R=4YV. A1 8V _02z _ 35 —
T R =775 Al =—=->=5x1073A=5mA

Related Questions:

01. WS p-BIA TEIfF_IRA Brei- [GST’20-21]




wanees, B \ (O e
@ﬁﬁ ‘ﬂi‘ aﬂ?l'ﬂsﬂ? : é%}%‘ % i%? .':r_;_"l::";j;#' :} _t..".: ..

v O T

B S == J &y — i 3. B Ll Bk g S

02. 93 WCRAT @=ETE P 5 w{ifTardice seiefts sare auem- [Ans: b][JU’19-20]
(a) wfefe wiEgt sRer  (b) S w=m (C) *INTTE NMI (d) BT IR
03. 3 p U W n NFARRTE “ArrenlE qrce e e Te i e off 27| are «% St 3e-

(a) Ay sifmrer few sider toft =0 (b) Teeral Fseifts zoa wefdaile o wpae weg
(c) ATRREE TSI NARIRT Te wp s (d) FEBR AT [Ans: a][JU’19-20]

04. @30 p-type wEif73rE toff 3aws, fom Fifere uz s coifée Tws =23-
(a) Phosphours (b) Antimony (c) Arsenic (d) Indium [Ans: d][RU’19-20]

05. p-BRR¥ WEARIIR Cofea oy o Ffeem e @M w#w<y firiite 237 [Ans: c][Agri. Guccho’19-20]
(a) AT (b) S5 (c) T (d) ST

06. I p-n wMCT 0.2V o9 i1y ~fsadtma 7 SmA e &z 7S «ireat e | TET @Y T©
2
(a) 400 (b) 500 (c) 100 (d) 45Q - [JU’18-19]
AR (a); R = = = 400

07. T @FEfeq SHENRANT TR WSITF B5E 3% @7 [Ans: b][KU*18-19]
(a) —273 (b) 0 (c) 100 (d) 273

08. <G p-n ST 1S @Y 40 Q1 97 o7 Ay 0.2 V ST vaa St ofor aqiteg ey o
204? [BAU’18-19]
(a) 4 mA (b) 5 mA (c) 8mA (d) 12 mA
T (b); [ =7 = = = 5mA

09. ISIF SIATAR p-513+t WEARIRT U ARRIY @+ (FReTE)? [Ans: d][DU’17-18]
(a) BT T (b) sy JreTaGw (¢) IS W (d) = R ZTRE

10. ciTmm REw e JF F9re AnE? [Ans: a][JU’17-18]
(a) AC 2w DC (b) DC @ AC
(c) % Utz g fRse (d) 7= = % Reg

11. 930 n-b1R~ NIRRT TG AT (BT 2 SEIA— [Ans: c][RU*17-18]
(a) &M (b) ¥ (c) = (d) FIRLE 7

12. 936 p-type Fifferw ot @ hw? [Ans: d][CU’17-18]

(a) TCERGTTIR ARG AZF G- AR wFE Sroms
(b) IETRGTTR TS IAZF QR I TP CSos
(€) RIFFTR TR 2T R AT AT =TS

(d) PR RIS IRE R AT Pz oS

13. e s ee B e e [Ans: d][KU’17-18]

(a) 125 (b) és (c) SR (d) ERwrm
14. I G0 ST M T TETRET @32 (=T s 20 todt 23— [Ans: ¢][JU'16-17)
(a) ©fSs &Tota (b) OIF &]1R (c) == av (d) FHBE 7y

] * -- >
L f f !I'_ "_1|I 3 ’ :'I"I,‘:I
e . bhb o B e N

e X T o ot e e Y

iy ." :.-*-.l. i ‘ I [ :‘_1-;‘-!“ ._;: |

i g sl




Extrinsic Semiconductor (F1HG? [Ans: a][JnU’15-16]

15.
(a) Si/As (b) As (©) Si CISIRUESE
16. G0 p-n FLAMTE RS T AT [Ans: a][RU'15-16]
(a) (PN AR AT (b) M=o St (34 TN
(c) Merife wetera |y fow A (d) @FRBE 7Y
17.  p-n SRS AATVZLT fCremiw w4 sjfes st 22— [Ans: a][CU’15-16]
(a) YN RS AN (b) 2CETFAT ©IGH
(c) R OreH (d) 9G] FFEF A
18. T p-n W ST A &I 2T 21 O 71T 4TS R Faed <072
(2) RETRGHT SIGH @0 TR (b) IR AR e [Ans: ¢][KU’14-15]
(c) (2) 932 (b) TST I (d) R T
19. p-n SIS P B 9999 T3 o, ©fee 2qm— [Ans: a][RU’14-15]
(2) GFA T (b) e =7 (c) @ffe = (d) =62 7
20. Tt form gmite 9oqT foqlt i SiTited (Z,, Z,, Z:) ATSIPiT (Srss 8 Js @b A 5V, 500
mA | Vp 932 R a7 77 2 [Ans: d][KU*13-14]
+o—WW Z ?
V.=40V Z, V,
_y Zyjv 3
(2) 35V, 100 Q (b) 5V, 250 Q (¢) 40 V, 500 © d)15V,50Q
Written
01. p-njunction f&? Depletion layer I3 <7 | [InU’18-19]

IAI: p-n junction: Y3 n-5127 8 G p-BIR~ WE-ARRIAT =i e M (AT 9t o= @H
BT FN) (T T M FPTEH 9 1 T ONF TR TIRNG 0 | G WE-ARRIZ SAes 96 |

p n
p | n —»}—

@ T TYTed 3¢ fom: ST SitHiTe TS oS

oY 1 1ol oL
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IR

Depletion layer:

SR SIS BT~ *I¥R (S AR o */9R) 1o fFm (Diffusion Process-) n-B2e (A% TG
p-BIRTet @R p-BiReT (VT G n-BIRTH T | n-BIRTA p-BIRCAT (BT RETRRTH FAC WA SRS (@ R8T
IR NIRRT p-BIRC RERREE T FAHT =W | GFR ST n-ORA (ATF BT TG AT
MREBS T @R p-BiRer (AT n-BRC I TIo TR 2 | n-51Ret (Ao = fog ReTG p-BIReeTd g e
e TR | n-BIRF AN p-SiRvei et BF SR SAfEfen SR Ieirere oI T AT | T 7 e
BITS 3l BER 2 T | 9 B FFENS n-BiRA (9T p-BI3CT LERA ST A4 78 0 | WA p-OIR
T ST g @I SRR Ry SERhee e ffTe Z e Fers 701 p-SiRe FEm n-Reew wet
SR SR TR (AT BIORE XH TS | T 37 4RI BIE G2 B R 7| @ ¥ RIS p-OiR
(I n-BI30 I W 4R Y T | i Ao 8 G (e S @9 iod A o S Y W AR
T B A BT I (R oft® [Grg= @9 (Depletion layer) I |

_Lw BTN (S0
HERE
3 s : | =5
1 O O @ ©
® ele ®|® ©
v e
T. L = o ey
0 E |
: . RO (TeRTT)
' E CTT (STeeRetare)
E : FrTea A i (WIpe W)
; ' P AR R gE W

5 S IS 5157

fETerI BT 197 T, TR 9~ 2GS 8 R FI TR I T W | AR g, e @
T T OFF AT n-5I30T Wt @R p-BiIre St TouR vt et e | o o Wi A o9 n-BRA
@ p-GIZ, (TG FAMITAT ST T (GF 3 YT BIEET T | T TOT 50 AT BloFe! Tomt Ifa
(It AT | FoTeMm WA 1o Sroof XCer oA AERRCer T RN AN, TRAT WHCETR ST T 7 W
Srergel B W #11S 30 | @ SRF! R 26T o W fOrard woa o167 e Qena A wne wee ( few
AR S T I G (e 1 =>p e =iy It |
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02.

03.

04.

05.

p-n-p (Bipolar): n-p-n (Bipolar):
¢ Y 5 T QAN ¢ YT BI% IIZF 2T
¢ 31 Yq[R Emitter — Collector

n|p nl
Ej*-—ﬁ-""c

#ﬁﬁ‘l’{ﬁlﬁ',u=]—“=ﬂ<1

g Alg

¢ REER, p=c =2k

Iz Alg
¢ Ig=Ig+1.;Alg = Alg + Al
a B

*P= =g

¢ IEFRE @ 336 R GFferse Ikge =1

FET (unipolar): (i) (SIt0& fafae (ii) Source, drain '@ Gate ATz 5ifé® |
(iii) CSITD&/RTAR S At drain @F 279 @ R RafEe =)

BJT: (i) Current fR3f@® (ii) Emitter—Base-Collector e 6@

Example: 93U JRETSE (Fd, « = 0.95 G2 I = ImA (& B 97

FNY: Process-01: f = — = 22 _ = 19

1-a& 1-095

Process-02: a = :—; = . =alg;095 X 1mA = 0.95mA

IE=IC+IB=?1=0.95+IE;]B=U.U5IHH Aphp=—m=—=19

Related Questions:
(3 GfePod common base TREATYT Witk | 9 Emitter 8 collector current AT 1 mA 992 0.95 mA

T base current $©? [Ans: c][JU’19-20]
(2) 1.95 mA (b) 0.95 mA. (c) 0.05 mA (d) 0.5 mA

TYA: (c); Ig = I + Ig = I = 1 —0.95 = 0.05 mA

a0 BNREEOE A I @1 et Z9- [Ans: b][RU*19-20]
(a) «fiioE (b) & (c) FTeTdq (d) afibrT @ TEde

fFtt e I7e T CHE e SRS R w@oe SR o tefae [Ans: b][JU’17-18]
(a) BAfeeta (b) =IE 79 @d e (c) G (d) fre2res Rmfeete

G0 TT2FAR (I T OGS eRIZ (UF (FIF GBS &NE RS Tw@?  [Ans: a][TU'16-17)
(2) 7 retae ufSy it ©w fstag «fs (b) T erm ofy e fFy e wfsr

(c) fefr =it «fer , (d) afSt Rits B

BAfEroq UF 2% A B-RA- | [Ans:d][RU'16-17]
(@) 3 (b) 32 (©) (d) CFTBE

Ic _ Alg
W: (d); B = - Alg
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Question Type-04: Number System

(i) COFTE TP ey T TTT FARSER A9 & A e ot F90e T W32 S5t o1 {1t fordte =,
2|88

N
44

0

22 0
11 0
S 1
1

0

1

2
1
0
1011000

* (88)4, = (1011000),

N N N N NN

(if) IR/ S 57T QAT T
(111.10)2 = ( )10
1x224+1x21+1%x2%1x214+0%x2%2=44+24+14+054+0=75

¢ TI3AI It w9 1001001111 (3 o o )

010 010 011 .110
! ! l !

04+240 04240 241 44240

= 223.6

¢ 3T A EATSHEE 10010011.11 (4 0 FF)

1001 0011 1100 =93C
8+0+0+1 0+0+2+1 .B+4+0+0

¢ (110011), W32 (101101), 97 AT F&7?

110011
AqYie; 101101
1100000

Related Questions:

g:)-[Do—c oS TOnICo AL Y =7 [RU*20-21]
(a) AB (b) AB (c)A+B (d A+B
HNIYF: (2); Y = AB + AB = AB + AB = AB + AB = AB

2-37%0 XOR (715 ¢ Tar &y T36 2-27%% NAND ¢ &mmem? [Ans: c][RU’19-20]
(2)3% 3 b) 4% 4 )5 5 @6 6

ISP 3=t & ? [Ans: a][RU’19-20]
(a) Internet Social Privilege (b) Internet Social Public

(c) Internet Service Privilege (d) Internet Service Provider
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05.

06.

07.

08.

09.

10.

11.

. r\lll . - .

g, Wl I ol SplE o & x
t .-|+ i L s 3 T [

[ 5 : .I ot ety
X , T Sy iy
M & ‘.'_ .-l-l_l.;_. g | t_ 1
e i ot TR

"'-ll.l:‘ﬂ. - = | “i-" ':‘* i Ly

. 5 1 [

(110011.10), = (101110.01)., «= Rearree- [RU’19-20]

(2) (010101.01), (b) (001010.01), (c) (000011.01),  (d) (000101.01),
110011.10

AN (d); (=)101110.01_

000101.01
(x+y). (X' + y) TR B s=er s +neat T [RU’19-20)
@)x+y (b) x ©y (d) 1
TANE: (€); (X +y)X+y) =xX+xy+Xy+yy =0+y(x+D+y=y+y=y
e G =iy [KU°19-20]
(a) Al (b) C (c) Cu (d) Ag
TN (b); SFe=T Si, Ge A1 A IEARRIR | C 27 wyreT agien )
fAeea e RANG 5-fofe T [KU’19-20]
(a) 11111 (b) 12034 (c) 20325 (d) 30304
A (c); 5 fofe srapt siwfer w2 0, 1, 2, 3, 4|
(11110101111.10001), & ST FAST FCT T T A2 [KU’19-20]
(a) 3657.21 (b) 3657.42 (c) 7536.21 (d) 7536.42

T (b); (11110101111), = (3657)g ; WM, 100 010 - Sieanf® (3657.42),
T

4 2

A ( r}DD—F AT FFE F 97 I @F[G? [KU*19-20]
B

(a) AB (b) AB (c) AB (d)AB

TY: (c); RS S, F = AGAB = A.AB+ A.AB=A.AB+A(A+B) =0+ AA + AB = AB
R TRT (10110101), 0w AR 5701 (10011), @3 Rramsiweer ren- [DU’18-19]
(a) (10110010), (b) (10100010),;  (c) (10100101),  (d) (10100011),

Ta4i: (b); 00010011 95 1's complement = 11101100
+1

00010011 «©¥ 2's complement = 11101101

G, 10110101
+ 11101101

1{ 10100010
-

overflow

(SR (0.046875), 0 (F I TR T 99 W F© I? [JU’18-19]
(a) 0.03g (b) 0.064 (c) 0.09¢ (d) 0.05¢4

0.046875
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13

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

. s @ Gz AND w2 NOT 13059 9=y cofa? [Ans: b][JU’18-19]

(a) NOR (b) NAND (c) X-OR (d) OR
. =TT F = (A 4 B)(A + C) =, F @3 AgeIg® I FA0? [JU’18-19]
(@) AB+C (b) A + BC (c)AC+B (d) B+ AC
Y: (b); F=(A+B)(A+C)=A+AB+AC+BC=A(1+B+C)+BC=A+BC
4C G TAFTF AR AT @RG? [Ans: b][JU’18-19]
' (a) 11001100 (b) 01001100 (c) 01001010 (d) 01001101
(I CZLOT 2% 8 ST FAIZT AN ACE? [Ans: ¢][JU’18-19]
(a) AND (b) OR (c) NOT (d) NAND
fafSra w231 1011101 a7 w7 ol woires =- [CU*18-19]
(a) 85 (b) 93 (©) 75 (d) 91
T (0); 1911101
6543210
OrRe, 1 X206 +1Xx 24 +1x23 +1Xx22+1%x2°=93
(31)p = (5)p = (5)p, T b GATF FE? [Ans: ¢][KU’18-19]
(a) 2 (b) 4 (c) 8 (d) 10
Aeda foafe i aife (o136 ey I8Ar? [DU’17-18]
E‘.
i —eTE
(a) OR gate (b) NOR gate (c) NOT gate (d) AND gate
HYA: (a); OR gate T TTS I F25 O AFCER FMF00 FRIET AFT |
@I A (I5-UF @ @ 93 379% "1’ T «eesp ‘0’ 232 [Ans: ¢][RU’17-18]
(a) NAND (b) OR (c) NOR (d) FHRE 7w
fAee (@i e 3 = []erey? [RU*17-18]
(a) 111111111111 (b) 97362 (c) 453 (d) SRetE
FY: (d); CFITAT TR RO WL 7WiE 3 et [y 2@ s 3 vt ey
G (55 7 @RG? _ [Ans: d][RU’17-18]
(a) OR I35 (b) AND ¢35 (c) NOT 3% (d) NAND ¢35
IS 572yt 368 W RS A Feyp T3~ [DU'16-17]
(a) 101110000 (b) 110110000 (c) 111010000 (d) 111100000
SAYE: (2); 368 = 28 + 2% + 2° 4 2% = (368),, = (101110000),
e Aeeife SR 0 «@F - [Ans: b][JU'16-17]
(a) —1 (b) 0 (c) 10 (d) 1
(100), S7e70F 1 O [TF FG7 [JU'16-17]
(a) (011), (b) (100), (c) (0001), (d) (0100),

O 100——*? 011
STIYIA. (a); T

sign bit sign bit




25.

27.

28.

29.

30.

01.

- & e
¥ = ‘.‘ 4 . . .I
- El:! & "_ a , o
!‘? A e :' k ii
. ':- #lt - ‘I'I'l
.?-‘l . — e 'E: g
L]

(10011010), —a7 2 97 ~iffvE=s ?
(a) 01100101 (b) 10011011 (c) 01100110

10011010

01100101
T (€); 11 (1 99 5ifEeE3)

01100110

AL AR % 13572
(@) NOT (b) AND (c) OR

JIZAIG 3T (110011), 932 (101101), 9T QST
(2) (1100000), (b) (1010101), (c) (1000010),

110011
A4 (a); 101101
1100000

(10010011.11), SIRFIET AN TG BT FALT A
(2) 223.3g (b) 223.65 - (c) 423.64
S (b); (10010011.11), = (010 010 011. 110), = (223.6)s

(1000001), — (11111), =?
(2) (100010), (b) (011101),
(c) (000011), (d) (110010),

1000001
g (a); 11111
100010

(2) (1001101.11), (b) (101100.10),
(c) (1011011.00), (d) (101100.11),

10111.01

s14: (b); 10101.01
101100.10

| Written

A
B — D_l:Di

TBHTAT IS X =? U3 4T (V00D & =) 27
srgie: X = AB + AB = A®B | 9% 4aA7 (1250F O O (7120 41 24 |

[RU'16-17]

(d) 11100101

[Ans: d][CU'16-17]
(d) NAND (e) XOR

[DU’15-16]
(d) (1111111),

[JU’15-16]
(d) DL T

[RU'15-16]

[RU'15-16]

[RU’19-20]



